('27) Mws Aww 7277 77 '01N X,0 naw .7"'02

wp mww 7ans - If it is wide six 2°rov, he is 2w

Overview

nooIn understands that the reason »aX maintains that 2"77% >"739% N2 P
1S Mo, 1s because since the N M> has the dimensions of a "7, therefore
when it lands (in the 2"77), it is considered as if it lands in a 24, The
presumption is then, that even though the place upon which it lands becomes
a v"717 simultaneously with the act of landing, nevertheless we consider that
it landed in an established °"737. N©OIN questions this premise, for 2aX
himself maintains elsewhere that 7737 77°PY can not dismantle and certainly
not create a MW@ simultaneously, through their respective acts. It is not
understood therefore, how the 117 of the n9M> can create a °";0, that it
should be considered as if it landed in a >"731.

TUINWD T NI PRl ansy 1Mo — For the nano itself becomes a
"7 when it lands

Q%297 DWW T TINOR DIND TN NRan 912 91 — and it is considered as
if he threw the N> from a "7 to a *"";717 by the way of a *1'":77, in which
case the 17 1s —

VIR P 7D RDT (x,7 77) PIDY MRTS w7 — that he is 1w, as previously

said, for we do not learn out 1"77 777 °"77% "7 Pt from "0 wRR
9"777 777 271 (where he is 21 by v’wn but not by pa).

N7 IR 90 7R KT R2pY 927 19988 — and even according to ¥''

who maintains the principle of X7 73372 922 WP, which may lend one to
think that he should be 21, since when he threw it into the 7"77, even before it actually
landed and became a >"1, it was ©7P1 in the 7" K, and would be considered according
to ¥"7, that it is 1"7772 7777, nevertheless —

115 X577 — here (as opposed to 1"77 777 "% "7 ) ¥"1 would agree’
that he is "D
TS MW 20w N ROIw 23pn 927 - for in which ever place that you

will consider it at rest, that place is considered a >''/19, because the 73, which
is a "7, is at rest there. Therefore he will not be 217 even according to ¥"".

2Ry 7% RuwsT yawn Xnwn — At this point it seems that ax certainly
maintains

" One of the advantages of this interpretation (as opposed to s""wA interpretation) may be that it explains
why 2R said 1"77% 7 (as opposed to 1"'772 [R"T] P).

* The place where he threw it from was a *";7.

? The place where the n9m3 lands is a >"71, as self-defined by the size of the nIm2.

* The airspace in which it traveled after it left the >"71 and before it landed.

3 Since *x did not say that if N3 P77 then 132711 Y"1 nPY?nnY? 1182 or something similar, it seems that his 1°7
is valid ¥"2%.
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TITIT MWD TWYIR MR AT Y9OND Navwn? — that it is considered as if the

hive landed after it became a >''/19, otherwise if it becomes a >"77 only after it
lands, then at the moment of landing (if) it is not a >"717, so why is he 7v5?

MBoIN now asks:

AT 927 W2 (3,8 yapb) PO PIS2Y — in 3N ' ,PNT POD queries:

22777 MW WA Y 1R RO9IT 3mn Py v M2 — if there is a pit which
is nine 2°115Y deep and he dug out from the pit an additional spade full of
earth, which completed the pit to a depth of ten 2’150 to make it into a *"717,
and he placed the spade full of earth in the 9''519, do we say that

o nywyy vor nvpy — the 79%py of the object to be carried out (the

spade full of earth), and the making of the partition (to confer upon the pit the
status of a >"'177) —

2951 SnNRP 9777 9772 — they are simultaneous, and therefore he is 2%,
because since we consider these two acts as being simultaneous, therefore at the moment
of 717°pY (of the earth) the pit was at that moment a >"717

XY X — or perhaps he is not 2°°1, because when he made the 77°py we do not as of
yet consider the pit to be a >"717. The pit attains the status of a *"7i7, only after the 7Py
was completed and the pit is then ten 0’190 deep.

11 " continues with his query:

2997 K9 RIpPI0R ' 77Romn 917 RDT 1190 9210 X¥an axt — and even if you see fit
to say in the previous query, that since originally at the point of the 77°py,

there was no partition of ten 2°19v, therefore he is not 2391, as in the second
option mentioned previously — I still have another query, namely —

TR WYY XY 10D 3N ' M2 — there was a pit that was ten 'm0 deep
(which makes it a °"777), and he placed into the pit a spade full of earth
from the 7"77, and thereby diminished the size of the partition to less than

ten 019V, (which nullifies its status as a *"717), what is ruling in such a case? Do
we say that -

912 73om» P99y e nmat — the placing of the article in the pit and the
removal of the partition etc, are simultaneous and therefore he is ®2r or not.
TNIOMRA SuanT nbIMRa v RYwET AR 39 axt — and if this is so’, then
according to »28, who maintains with certainty in the case of a rug, that
it nullifies the partition

'mAMT S Py 29297 N2 M2 ant RpT — for the X7ni says there; if

there is a pit in a 9'"'57% which is deep ten 2’1750 and wide eight o'nov (by four
0 MoY)

® Even if we maintain in the previous query that even though the two acts are simultaneous, that is not
sufficient to make him 2>, that is because there at the point immediately preceding thei°py , there was no
°"717, here however at the point immediately preceding the 7177 the pit did have the status of a *"77.

7 That there is less reason for simultaneity to be a cause for 211, when originally there was no 7%, as
opposed to a case where originally there was a 11¥°nn, as demonstrated by the 17 Xxnn oX.
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2LD IPPM oA 19309 3P — and he threw a rug into this pit, and the rug
landed in a manner that divided the pit vertically into two equal parts each
one slightly less than four 0°15v wide, he is 91D, even though before the rug
landed in the pit, the pit was a proper >"717, nevertheless he is M2

"7 2mM1 X977 XY RNWnT 29wn — because now — at the moment of landing — the
pit is not wide four omov, since the rug divided the pit vertically into two equal parts,
in which neither are "7 2m1. Then it follows that according to >>2X that

O NORWY MW7 19w 921 — he is certainly 212 when he simultaneously
makes a 71%°1, as in the first query of 11 "

ROPODR 7Y 73R RO KRYT 1907 2w — since there was no 173°m% of ten
0°noY originally

251 K9 — he will not be 2vn

From the two queries of 337 ', within which the 5"nX1 is inserted, we see that there is
less reason to consider something a valid M7, in the case of simultaneity, if prior to the
act there was no m", and the act must create a N1 simultaneously, as opposed to where
it was previously a M, and the act is designed to remove the MW7 simultaneously. In
the latter case there is more reason to maintain that the mw" is valid. Nonetheless since
we see that ™R maintains in the case of n?xnn, where there was a MW" originally (similar
to the second query of 71m° "), nevertheless since the MW" was nullified simultaneously
(with the 7M7) there is no MW", then certainly *aX will maintain in the first case of "
11m°, where we wish to create a MwA simultaneously, that it cannot be done.

RRYY ORTR 52109 79% 997 X977 19 a8 — and if so (that a mwA that is being
created in a simultaneous action is certainly not a mw"), then here in the
case of N> he should be 217 for this same reason —

RPOwnR 7377 RM7 89T 1192 — since there was no 7317 originally; prior to the
landing of the n7112, the space in which it landed was a 1", therefore —

2597 2%2977 w2 m 97 — it landed in a 27719 and he should be 297, since
we cannot create a MW simultaneously with a 7117, as explained previously.

madIn answers:

»aRT7 XyuT »» @ — We can say that the reason of 2R, in the case of the
rug being thrown into the pit, is not (merely) because that a 7%°’rn which is created or
destroyed simultaneously with either a 7137 or an 77°pPY is not a 71%X°1», but rather —

ST RDY 7Py KD 20wn K97 2wn — because he does not consider neither
an ;1P nor a inant to be valid

ST 9772 3NR 90 — if it is simultaneous with creating or destroying a *memn,
therefore by the case of the rug he is 75, not (so much) because there is no proper NMw,
but rather because there is no proper 1137 since the 7737 is destroying the 7%

7ma aown XY w1 8o — and here too, by N3 it is not considered a valid
anan

¥ Perhaps one can say that an Am3m 7Py is defined as taking place from or into a valid M, otherwise if a
mwn is either being created or dismantled, there was no 7137 77°PY in a M.
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INRP ST OTTI AIONR NOWYY M7 192 — since the 737 and the forming
of the 12 are simultaneous.

mooin asks: Now that we say (according to »2R), that the problem lies with the 7Py
7173 that are simultaneous with Mg nn P12°01 n»wy, and not (so much) with whether one
can create or destroy a 7¥°n» simultaneously with 773 77°pY, we need to understand -
MIZOMA PI9IDIR NIXOMR MW SBY 1AM 5379 90 RLIwDT XM — why is *jame '
more sure that creating a 72> simultaneously with 773 97%pY is more
difficult than destroying a 71%°1, in the same manner. If we are to assume the idea
of »ax, that the difficulty is not with creating or destroying the n¥°nn, but rather with
having a proper 7mImM 7Py by itself without being involved in creating or dismantling
mx iy, so what difference is there in the first query of 371 ', where he is creating a 7%
(by an 77°pY) to the second query of 1M1 ', where he is dismantling a %> (by a 7M7),
since in either case there is no proper 7nIM 77°pPY, since simultaneously he is creating or
dismantling a 7%°1n?

moon answers: The reason why 7am1 ' felt that even if in the first query (where he
created a 77X 7 through the 77°pY) he is not 2°°1, nevertheless maybe in the second query
(where he dismantled the 7% through a 71317), he may be 21, is not because creating a
7% rn is more difficult than dismantling it, for as stated above the difficulty is not with the
mx iy, but rather with the 7mIm 77°pYy, that they should not be involved with either
creating or destroying mx°rn. The difference between the first query of 7311 " and the
second is because in the first query the creating of the nx¥°nn is done through an 7729,
whilst in the second query the dismantling of the 7xX°r» is done through a 7727, and as
mooIn concludes —

72N RINW 092 7Py X»977 — for perhaps only by an 79py are we
concerned that it should not create or destroy a 71X°1», because we require

that an 77°PY be proper, therefore it must be from a valid pre-established nwA, not
into a simultaneously created Mw"

XY 7372 %2R — however by nmi (perhaps) we do not require that it be so
proper, therefore it would not matter if during the 7137 a 7¥°1n is created or destroyed.

Summary
»IX maintains that to be valid, an 7737 77°PY must take place in a proper

mwn where there is no changing of the status of the M7 at the moment of
anam APy,

1M "1 questions whether this is true at all, or perhaps it is true only by 77°py,
that it alone requires that there be a valid mwn preceding the act, but not
necessarily by 717,

Thinking it over

% If X720 '0In in explaining »ax is correct, why should 1m1 ' disagree with it and vice versa. Also from the
X°20 in P it seems that **2X is continuing in the same vein as 1371° M. See Footnote #5.
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1. How should we characterize the concept of nu7p: A) if it is captured in
the airspace that is sufficient to be considered as if it landed in that domain,
and an actual landing is unnecessary, or B) if it is captured in the airspace of
a domain it is considered as if it actually landed in that domain?

2. Can we say that by stating, that even ¥"7 would agree with »aX, that
mpoIn is strengthening the presumption that we consider it at rest after it
becomes a >"777?

3. Define clearly the difference between the X" of mdoIN and the Xipon
concerning the problem with *nXp 777 7727



